’r wo way }ables.

Use a two w(,uj }ablo to ll.b" the oulcomes
when there are  hwo eavenbs

@ A’ Tio6 sfmnu's
A

Goulttomes = Total

Sxu=12
grmne/ @
3] 4 S| 6
5 _GI’6[46 [56]66
S @ ROAR[HR [SK[6R
n B
€ B SHIYUB (56 | 65
R
Drobabl y Scale
Gethng less Gettung move ,
Imposs'u‘ likedy |/‘.,_ hntdng 7 Certaln
[ . { [
o|f asolo 05 ?5/0 jl-
G
: Euven .
o/ 5070 00 /o

@ G e exn Numbes
6, 1

Pmbab\.hl-‘g

[




@ Number 15 odd omd .re.d /Z’:._?"
g ‘ S Vr;bab‘lh"’l @ Groon amo‘ een)
[ A Prol,aab'«“'j
C/w Pq 36 (61 Q243 T

Qa(culam/\j Probabt'lllﬁﬁ

- numben of Favouurable outcowaes
PrObOb(llM OF an ?AJ{Ml' - Numbex of FOSS'}bQ ocultcanmes

6 ’l) 4 CM d'e 5 tHhrow n wlr\cf-} s Ha Probqbtlclj
9 ¢ oukcomrls on a die.

of gexm},-‘
@ qa fowr @ o <:‘dg"o|Y number @SW 6
P(q): i P(odd m.) = -2— P(s'aré)
° _ ) 1 Z’- .2
= 7 Z
Hiw Tq Q0/a) _

1
Q1 / Q2 3



